In Class Exercise: POP QUIZ!

Assume that you are dealing with a vertical walled reservoir having a
surface area of 500,000 square meters and that an inflow of 1.0 cubic
meters per second occurs. :

How many hours will it take to raise the reservoir level by 30 cm?
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Probiem Solving Methods

Make a reasonable guess and

GUESS 2 1235002

& CHECK check it out; if incorrect, try again,

LOOK FORA The key is to find any differences between
; PATTERN given pieces of information.

Take the written information and write it out

L. WRITEA
@ g‘gﬂ%ﬁ& in math; ignore irrelevant information.

Drawing a picture or a graph may help solve
a problem more easily. You could also make a
table to sort information.
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Start at the end of a probtern and work yaur
way back 1o the beginning o find the solution,
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Squares and Square Roots

Think logically. .. Actitoutifyou tan... Bea smartestimator...
Always test your answer.

Order 6f Operation/Symbols
, :

Do operations
@ within parentheses. {) < s srmaler than
g > lsgreater than
Do J:vowers {exponents) )
. and fools, Vr_ = 5 eq val 1o
T
Do multiptication and division =  Approximate
inorder from lefT to right. X -
i < Is smaller or equal
Do acdition and subtraction -
in order from left to right, - | 2 Isgreaterorequal

Fractions, Decimals, Percentages

n|(nl Vn nl Pl Vn . Vi
vy 7| 49| 2646 15§ 225 | 3873
2 4 11414 8 | 64| 2828 20| 4007 4472
3| 91732 9| a1}3 %] 65) 5
4 11612 10 100 | 3362 | - 110010000 | 10 °
S |25 2236 1o 3_317~ | 1/4 o707
6 | 36 {2449 12 | 144 § 3464 Wal 16§ 12
Metric System / Conversions
1,000 100 10 1 g 01 | .o
kilo hecto | deca deci | centi milk
km hm dam m dm om men
kg hg dag g dg - g mg
kI " dal | dl cl ‘mi.
1m? = 10,000 cm? Temperature
Metric 1 hectare (ha) = 10800 m’ FAHRENHEI  CELSIUS
system 3 km? =100 ha |
1 metri¢ ton {t) = 1,000 kg 30— 110
220-:
English system 5338: 100
1 foot (ft) =2 inches in} i’ = 12° 1w dE X
¥ yard (yd} =3 feet =36 inches 1802 a0
Tendle(m)  =1760yards = 5280feet 170
1 tablespoon (T) = 3 teaspoors {© 160 E- 70
1aup (o) =16T = 8 fluid ounces (floz) 150—
1 pint (pt) =2¢ 140 — 60
1 quart {gt) =2pt =4¢  =3flez ‘30“' 50
 gallon fgal) =4t : ]g‘
1fe =144 i’ 100 40
1yd =9f %
1acre = 4840y 80 30
70 20
LENGTH / AREA WEIGHT / CAPACITY &0
togofrom to multiplyby | togofrom to multiply by ig 0
cm —in 03937 | g ~or 00353 130 0
in —+cm 254 oz —g 2835 20
m —+ft 3.2808 kg -+lbs 22046 10 -1¢
ft - m 03048 Ibs — kg 04536 o
km —mi 06214 | t =T 11023 -20
mi — km 1609 T —+1 08072
m -+ fit 1078 mt —floz 00338 o
fi - m? 00929 | floz=ml 29575 “*jF-S'afé' 32
km? — mit 0.3861 i —gal 02642 . - I
mit = ki 2.59 gl =1 3785 | "prnosesY

Common Units used with the International System

3 - numerator 1 =10 =100%
5 — denominator .
172 =05 = 50%
To add or subtract different w3 =03 = 333%
fractions, first obtain a com-
mon denominater: va =025 = 25%
1,25, 6_11 s = 02 = 20%
3*5TET IS TS ! =
we = 016 = 16,6%
To muitiply: e = 0125 = 125%
Clg2-1x2_2 - s
3757 3x5 15 19 = 0.1 = 11.19%
To divide, multiply the first 10.= 01 _ 1036
- with the reciprocal of the wiz= 0083 = 83%
second fraction; 23 = 06 = 666%
2.1.246_4 ' '
3°6 371 ¥4 = 075 = 75%
& FranklinCavey.

LMITS OF MEAS, | ABOREV.) RELATIOR UKITS OF MEAS. | ABBAEV. | RELATION

' meter m |length degres Celsius | “C | temperature
fectare ha jarea kelvin K ithermodynamic témp.
tonne 1 mass pascal Pa |pressure, stress
kilogram kg |mass joule J o jenergy, work
nautical mile [ M |distance [navigation) | newicn N jlarce
knat wn | spesd (navigation) watt W | power, radiant flux
liter” L }volumeor capacity | ampere A {elegtric current
second s |fime volt vV jelectric potential
fiertz Hz |requency ohm £ |etectric resistance
candela ¢d  fluminous intensity coutomb ¢ 1electric charge

*Canadian preferred spelling: metre, fitre.
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